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Aufgabe 1
Vereinfache den Term.

a) -3y y-y-3-x-y 06-xr-2-4-y-10-y-x
co-6-x-9-y-y-x-x dy-x-z2-2-2-x-5-y
eyy-z-4-x-4-y-T-x Hly-z-4-y-y-2-y9
g)r-r-y-y-z2-y-5-4-x hy-2:6-9-2-4-y
Vy-8-y-7-x-6-y-y N9 y-5-4-y-z-x
Aufgabe 2
Vereinfache den Term wie im Beispiel a).

a) 3-7-7=147 b)4-(=2)-z-(—10) Ay-y-3
d)z-x-x-y e)y-9-y-y He-y-4-2-x

g) (=3) - (=4) -y - (=10 h)y-y-6-y )Tz y -z (=7)
j)( 7).z
Aufgabe 3
Vereinfache den Term.
a)xr-T7-8-2-y b)y2-4-y-x-6 y4-y-y-3-5-y-y
d)8-y-2-9-5 e)10-9-y-x-2-2 8- xz-y-xz-y-9
g db-y-H-3-x-x hyx-4-8:-8-y-2 )bhd-zz-2-7
D3-3-y-z-y-7
Aufgabe 4

Vereinfache den Term wie im Beispiel a).

a)9-6-y-y = 5dy? b) (—8)-3-6 :
d)z-8- 6-(—5) )y (=3)-(-8) vy fyz-2-(=8)-x
&)y -y T (= Tz ) i)5-
o x-(=2)-(=5)-=

Viel Erfolg!
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